Adding 2 single-digit numbers.

3+ 8

9+ 4

9+ 9

5+ 4

G+ 4

7+ G
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4 + |
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3+ 8

9+ 4

9+ 9

5+ 4

G+ 4

7+ G

7T+ 3

5+ 12
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|+ 7

5+ 7

G+ 8

5+ 3
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8 + |

| + G

2+ |

3+ 2

3+ 4

9+ 8

7+ 4

7T+ 3
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5 + |
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0. 7+ 3 =10
L 3+ 9 =12
2. 4+ 5 =9

\
&

4. 7+ 9

\
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5. 8+ ¢
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Adding 2-digit and a 1-digit numbers.

23

27

128

34

30

37

40

4G

48

52

54

50

\!

. 63 + 6
7. 7+ G
8 9 O
9. T2 2
20. T4 I
2. 77 3
22. 53 5
123 88 G
24. 89 7
25, 92 7
2. 94 + 2
27. 95 3
28 96 + 3
29. 986 G
30. 99 O

\

\




ANSWER KEYS
I Il = 20 . G3 + & = 09
2. 5 = 22 7. T+ G =_T13
39 = 26 B 09+ 0 =_©9
4 23 = 26 9. 72+ 2 =_T74
5. 27 = 28 20. 74 + | = 715
©. 28 = 33 2 77+ 3 =_80
T34 = 35 22. 83+ 5 =_88
8. 36 = 42 23. 88+ 0 =_94
9. 37 = 39 24.89 + 7 = 90
0. 40 = 43 25. .92 + 7 = 99
I 4G = 54 26. 94 + 2 =96
2. 48 ﬂ 27 95 + 3 =98
3. 52 = 56 28. 90 + 3 = 99
4. 54 = 59 29. 98 + © = 104
5. 56 = 05 30.99 + O =_99 _
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Adding 2-digit and a 1-digit numbers. Missing Addend

43

37

Gl

42

27

+ & = 2 6. 22 + = 218
+ 3 = 23 7. 26 + = 33
+ = 20 8 G4 + = ©7
+ =17 9. 37+ = 46
+ 7 = 3 2.0. + 9 = 9l
+ 8 = 0 2. + 4 = 98
+ = b5l 22. 93 + = 98
+ 3 = 42 23, + 3 = 85
+ = 40 24 + 7 = 84
+ = 63 25. + 2 = 74
+ 1 = 39 26. + 6 = 90
= 47 27.88+ = 9
+ = 30 28. 93 + = 97
+ 3 = T4 29. + 7 = 83
+ 4 = 87 30. + 7 = 106
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24

. 53

43

%9

37

Gl
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42

27

.
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\

2|

23

20

3l

Gl

51

42

4G

63

39

42

30

74

87

6. 22 +
7. 26 +
8 G4 +

9. 37 &

20. 82 +

2l 94 +

22. 93 +

12352 *
24 77 *
25, 72 +
2684 +
27 88 +
28 93 +
29. 76 +

30. 99

\

128

33

o7

4G

l

98

98

85

84

74

20

vl

97

83

106
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Adding two 2-digit numbers.
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Gl

32

30

37

23

37

49
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a7
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20.
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25,
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18.

29.

30.

7 +

82 +

80 +

77 +

63 +

30 +

34 +

T2 +

5 +

55 +

4 +

36 +

27 +

36 +

35 +

(&

20

80

13

45

51

54

4

20

G2

20

\
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13

Gl

32

23

37

49

50

20

43

20

27

23

42

44

52

©O

13

= 39
= GG

= 8l

= 59
= 42
- 78
= 8
= 70

= 8l

\
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- |
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20.
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20.

27.

18.

29.
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7
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55
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30

27

30
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20

80

13

54

4

26

G2

20

\

\

83
102
IO
100
77
53
48
7
G
70
95
77
53
98

55




Adding two 2-digit numbers. Missing Addend

23

G2

42

27

43

50

= 30
= 40
I = 33
= 85
- 88
33 = 9
72 = 123
8 = 15
& = 55
= 40
= 79
= 138
14 = 85
5 = 92
37 = 7

20.

2l

22

23
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25,

20.

27.

18.

29.

30.

37 +

44 +

20 +

30 +

T2+

50 +
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30

34
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\

\

|

\

\

\
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1o

1277

35

G2

40

99

Gl

18

162

72

79

78

=106

142
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G2
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.1
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T2
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40

33

85

88

&9

123

25
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40

79
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20.

2l
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23
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27.

18.

29.

30.

37

G5

43

44

52

20

13

25

30

T2

73

R

52

99

1o

1277

35

2

40

99

Gl

18
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72

79

78
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142




